FEITRIZEJ0CY 1271 vohy 7" EFKKEBRERKRE

RH - REEFRKIKES

ARA—FYR b
#H&ENo. 170 BF 400m 22Y—19yL— FE 3 BHAZ:EEH 3:14.73
CcS _ £508%  3:25.86
K  F—LE B k& PE
AR
148
0 oFz=E=Em B X 1004 ¥ HFE 9/ TN A =2
IFIZVh =R 1005 EE EERE #13% Y1y =
1003 RE #X Tt huh =
1002 5% M= #hy hY7H =3
1 EA#kk = W 100  ¥&3F SR A0 1% =
NUEY, =15 96 EHi#h [E# 3v3y Yank =
97 Bl X NI BT 4% =
9 =&k —5 VN ARV =3
2 thERXPERS Z A 1920 JiA = 775" EnL =
Fantavay =X 5 1917 Ry EHth Th¥y ey =
1919 @R E#k Y% HH =2
1918 /hB KiE VY 4 4% =2
3 7 WT-AHEAE w3 1660 XIF KBk "W MY =3
7" h=19%4 1661 £H %t Y+ MY =2
1662 AIJII &KX 1vh7 1945 4 3
1659 L FEFE A vagng =
4  ATSC. YW wmE| 1574  ®E & h3/ 9% =2
ATSC. YW =15 1575 &% [E#R T Uhr =
1573 K5 & ALY =
1572 F5 BA £347 ub =3
5 4 F< v X B 2227 MR IERR Ny W =
1y =15 2233 EHHA &A DA% 19b =
2228 @&l 3T 754N 7YY =2
2230 FMHE K 75 4444 =2
6  #EF T KRt =N 1295 AF B 9FL3 H7° b =]
VEUIPELY)! =15 1296 #tLE #&F L33 Fya' 4 =3
1297 EA XKWl heT A4 =2
1298 J\#B #X Ny ok =2
1 ZHENKAS W AR 2124 #¥@E @& W vy =
KGN =15 2125 #HFAX —iE E)EM R4 =2
2126 B#W %KX hyHE ans =
2127 Al E# VAT Y ES =1
8 EEaER W &R 2119 &% it 1M Ay =3
J49tvanay =21 2118 FaFT #HiE ZYh7 1% =
2121 RER B4 b 4 a9%h =
2120 K W& #hEM B4 =3
9
Page: 1/3 Printing: 2014/08/29 9:23:04

SEIKO



FEITRIZEJ0CY 1271 vohy 7" EFKKEBRERKRE

RH - REEFRKIKES

A3—FJX b
#HNo. 170 BF 400m JUY—YL— FE 3 BARE 3:14.73
CcS _ £508%  3:25.86
KE F—L4A m 8 k& FE
2R
2%8
0 LASSiE BN 1617 %2 b v AW, =2
VESSHE / =R 1619 #HE —i& /s MUY V-4 =
1616 HFH E— 39/ Yaui¥ =
1618 i  # I3 991 =2
1 WIER k E 2388 =B A 993 Fyb =
1Fh9392 =R 2394  FH shRI 774 o4k =
2393  [E & 7N I =
2390 [EAX FE hEh fqb =3
2 Eig B K 785 ®BR WX SUVIVEDL] =
aw’ =15 788 K #miE THey en)7 =
786  EIMILAKER V' 7°F anson =3
7183 EHEKH %4 Yv4ang =3
3 HoH—sSSs EF N 2697 RE thEE F3th 1927 =
#v4° -SS =28 2695 M #HZ ath hth =2
2606 #EE B3 JYpz HUb =
2694  A¥F T 197§ uh =3
4  KEERXKS X R 2206 iEO Bhz Yhh ¥ Enat =52
44439 =R 2202 /L ERE 1YY 19 =3
2207 HZEX Tk 1Eh £ V4 =1
2205 #EF AR TYE A =2
5 #ASS X R 2339 FH BRI 9] vauaq =
£754SS B 2340 R Kith N 44F =
2338 FHHEKER EVZ M V2 1ib) =2
2337 Ll =— YN HE DT =2
6 IWAVAKFE * W 214 A 5 1h7 Y39 =2
-3k =15 216 EH b2 TH Yan =3
215 {hE fF th/ a9aq =1
213 ki tHE #hy +3 =3
17 BEFR B E 64 HLE HE 191 19% =2
$A3hI = 362  K¥ T AL FY =3
366 MFx X 194 =2
365 HE OB EVVAE N A =
8 BSEf# = [ 2193 S#® EE IV Y 39y =2
BSHh" 2" 3 = 2790 E=E £E N E) =2
2792 R E w9F 4 =2
2789  #Eith @BK 94k h4s =
9 TYUEA B K 1252 X EX I/Eh vHtn =3
b4 = 1251 &% E 3/ 740 =3
1253 EXE KiE AN 4 4% =2
1254  8hE XA Eng 4k b =2
Page: 2/3 Printing: 2014/08/29 9:23:06

SEIKO



FEITRIZEJ0CY 1271 vohy 7" EFKKEBRERKRE

RH - REEFRKIKES

A3—FJX b
#HNo. 170 BF 400m JUY—YL— FE 3 BARE 3:14.73
CcS _ £508%  3:25.86
KE F—L4A m 8 k& FE
2R
348
0 aFzI@EE E E 2432 JUAT EE¥E L7 4% =2
132934 2429  INE BT 50 Yannd =3
2434 &KX X PAEh 19% 3
2430 EHTYIVEBR 91y FUIy 734 =3
1 AEXKAMES 8 [ 2750 EH KX A4 44N =2
$1991929 =5 2751 #*t E#t 1791 Y99 1 =2
2888  FTAT 4Lk EbLAT YO =1
2748 AR E Thh7 yn' 4 =3
2 RHU94VKE B E 375 FPREKX 7Hn% 395 =1
SWi#sy 374 WE BX EAVAUEDL: =2
316 WE hiE nhYyoa%% 3
373  FEfnL BE AFU4Y ) =
3 KBEHESC B = 876 thim 3B 1Ny 493 =3
T-K-S-C =1 878  Lhs-) - 7Y Lhs-p. 7Y =2
875 &Il 3hiE hihT 553 =
877 ¥JEH HEE& DL AU =3
4 BXREWL B OE EiE
7HY =
5 R4 VES m E 462 AN HEX A1Vh7 51y =3
SW7hv =Y 465 HE RiF 5Y° 3 £y =
461  ®L E iEEVEVEN =
464 K¥ #¥FE T1h7 Yann =3
6 NECGSCi&m O B 1631  FHA MK E3% 294 =
NECGSC M =Y 1629 EHEREZN WV EUELYY Y =3
1634 #I ##{= L3h7 shEb =2
1630 AW HmE LAY =3
1 AHES 2 Al 1906 EH Xi5 N/ 447 =
R ED) = 1909  #k ZEKER ISORELLY =3
1910 =@ =AM REEV ) =
1912 FEB R% EIXY 394 =2
8 ZIE 2 A 2025 WKk E3} ¥YEL ALH =1
FA73Y =R 2024  fxME RN TN Y 4hb =
2022 {REE KHE 1M 5 4 =2
2020 #NE OEA h3Fh VAN =2
9 /NFIK—F ' & 4 FE MTE N annq =3
194" 4472 =X 47 k8 %£E #3+ y397° =3
48 =H RKX 397 94 =3
49 ZE 1B 5hny Eal =1
Page: 3/3 Printing: 2014/08/29 9:23:08

SEIKO



